Solution for 4.1 Homer's Odyssey (Answer = SCORPIO)

The idea is to follow the path of the "The Odyssey", starting from Troy and end at Ithaka, and avoiding all the
cities which are not visited in the story. The maze isn't your standard maze though. It's what mathematicians call
a "donut", meaning that the left connects to the right and the top connects to the bottom. Remembering these

rules, there is only one path from Troy to Ithaka, and once you draw that out it should produce the starsign
SCORPIO (remembering that the maze is drawn on a donut!).



